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1)  In which compound does chlorine have an oxidation number of +5?

A) HCIO4 B) HCIO C) HCIO3 D) HCIOp
2)  In which compound does hydrogen have an oxidation number of -1?

A) HpO B) NHj3 C) KH D) HCI
3) In which compound is the oxidation state of chlorine the lowest?

A) HCIO4 B) HCIOp C) HCIO D) HCIO3
4)  Oxygen has a positive oxidation number in the compound

A) HpOp B) 10y C) OFp D) HyO
5)  In which substance is the oxidation number of nitrogen zero?

A) NoO B) NOp C) NHj3 D) Np
6)  What s the oxidation number of carbon in NaHCO3?

A) +2 B) 4 C) +4 D) +6
7)  What is the oxidation number of chlorine in HCIO4?

A) +5 B) +3 C) +7 D) +1
8)  In the reaction Cly + HpO $3" HCIO + HC], the oxidation number of chlorine

A) neither decreases nor increases C) decreases, only

B) increases, only D) both decreases and increases

9)  The oxidation number of nitrogen is highest in

A) NOp B) NO O Np D) NHj3
10) In which substance does sulfur have a negative oxidation number?

A) CaSO4 B) SOy C) NajS D) S
11) The oxidation number of nitrogen in NpO is

A) 2 B) -1 C +2 D) +l1
12) In which substance does sulfur have an oxidation state of +4?

A) S B) SOy C) HS D) SO3
13)  Oxygen has an oxidation number of -2 in

A) NapOp B) OF, c O D) NOp
14)  In the compound NapHPO4, which element has a negative oxidation number?

A) O B) H C) Na D) P
15) Ifelement X forms the oxides XO and X>03, the oxidation numbers of element X are

A) +land+2 B) +2and+3 C) +2and +4 D) +1and+3
16) The oxidation numbers of a/l the atoms in H)SO4 must add up to

A) 0 B) +9 C) +16 D) +5
17)  What is the oxidation number of iodine in KIO4?

A) -1 B) +1 o -7 D) +7
18) Hydrogen would have a -1 oxidation state if it formed a compound with

A) F B) K Cc O D) N
19) What is the oxidation number of Pt in KoPtClg?

A) 4 B) +2 C) +4 D) -2

20) In which compound does sulfur have an oxidation number of -2?
A) SOz B) NapSO4 C) SOp D) NajS



21)

22)

23)

24)

25)

26)

27)

28)

29)

30)

In which compound does chlorine have the highest oxidation number?

A) KCIO3 B) KClOg4 C) KCIOp
In which compound does chlorine have an oxidation number of +7?

A) HCIO B) HCIO3 C) HCIO4
Oxygen will have a positive oxidation number when combined with

A) fluorine B) bromine C) iodine
The oxidation number of hydrogen in sodium hydride (NaH) is

A) +2 B) -2 C -1

In which compound is the oxidation number of oxygen -1?

A) HpO B) CO» C) HyOp

What is the sum of the oxidation numbers of the atoms in the compound CO2?

A) +4 B) -2 C 0

In the reaction

2Cr042-(aq) + 2H'(aq) 31~ Cra072-(aq) + Ha0(l),

the oxidation number of chromium

A) increases B) remains the same

What is the oxidation number of sulfur in HySO4?

A) +6 B) 0 C) +
What is the oxidation number of oxygen in HSO4?

A) 4 B) +1 Cc -2
In which substance does oxygen have a -2 oxidation number?

A) NapOp B) HpOp C COp
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